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Question 1 (3 marks)
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Question 2 (4 marks)
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Question 3 (2 marks)
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As f(g(x)) = x = f ( f –1(x)), and both f and g are one to one functions, they are inverses.	 A1

Question 4 (5 marks)

a.	 Define the random variable X as “the number of passengers who show up for the flight”.

	 Pr(everyone gets a seat) = Pr( ) . . . .X ≤ = + + =40 0 1 0 45 0 35 0 9 	 A1

b.	 Define Y as the number of passengers who do not show up
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c.	 Pr(X = 38 | not all seats filled) =

	 Pr( | )
Pr( )

Pr( )

.
. .

X X
X

X
= < =

=
<

=
+

= =

38 40
38

40

0 1
0 1 0 45

10
55

2
11

	 M1

	 	 	 A1

Question 5 (7 marks)

a.	 A vertical asymptote with equation x = 2 means b = –2.	 A1
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Question 6 (4 marks)
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Question 7 (3 marks)

Given 2 4 23 3log ( ) log ( )x x+ − − =  we have x x+ > − >4 0 0 and , which together means –4 < x < 0.
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Since –4 < x < 0, x = –1 is the only allowable solution.	 A1



VCE Mathematical Methods (CAS) Units 3 & 4 Trial Examination 1 Suggested Solutions

Copyright © 2013 Neap		  5

Question 8 (5 marks)

a.	 i.	 As X is a probability density function,
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Question 9 (3 marks)
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Question 10 (7 marks)

a.	 f x a ax( ) cos( )=
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c.	
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